
 
 

 



1.1. Tools & Items Required: 

      

 

 

 

 
 

1.2. Fasteners supplied: (Included with Mounting Kit) 

ITEM QTY 

M8 FLAT WASHER 14 

M8 OVERSIZED WASHER 4 

M8 PLASTIC NUT CAP 14 

M8 NYLOCK NUT 14 

M8X30 B/HD BOLT S/S 4 

M8X20 HEX HEAD BOLT S/S 10 

 

1.3.  Hardware Required: (Included with Mounting Kit) 

 

 

 

*NOTE* The Shadow Awning is sold separately and is not included in this mounti ng kit. 

 

  

TOOLS 

Ratchet 

13mm Ring Spanner 

5mm Allen Key 

Drill 

�'�U�L�O�O���%�L�W���‘�������P�P 

Nr  ITEM DESCRIPTION QTY 

1 441-AWN-THR-FNT-BRKT-01 AWNING TO THOR FRONT MOUNTING BRACKET 1 

2 441-AWN-THR-RER-LHS-BRKT-01 AWNING TO THOR REAR LHS MOUNTING BRACKET 1 



STEP 1 

Slide the M8x20 hex head bolts into the extrusion slots on the rear side and rear of the roof 

conversion. 4 bolts on the side and 2 bolts on the rear extrusion.   

 

 

Slide 4 M8x20 hex head bolts into the extrusion slots at the fron t side end of the roof 

conversion. 

 

 

 

 

 



STEP 2 

Position the rear bracket over the bolts you placed in the extrusion  slots. Fasten the bracket to 

the extrusion using the supplied nuts and washers.   

 

 

 

 

 



 

Position the front bracket over the bolts you placed in the front extrusion slots. Fasten the 

bracket to the extrusion using the supplied nuts and washers.   

 

When fastening the front bracket, do not tighten the bolts to fix the  bracket in place. Allow fo r 

the bracket to be able to shift/slide along the extrusion so the brac ket can be aligned with the 

correct mounting holes on the awning. 

 

 



STEP 3 

Drill/pierce the awning bag at the 2nd set of mounting holes from both ends (front and rear 

of the awning).  

 

 

STEP 4 

To align the awning mounting holes, first mount the rear end of the awning to the rear 

bracket using two button head bolts and oversized washers to keep it in plac e. 

 

 

 

 

 

 

FRONT 

REAR 



 

Align the front bracket mounting holes with the 2nd set of mounting holes on the channel of 

the awning. Insert the two button head bolts to check the for the correc t positioning.  

 

 

 

 

 



STEP 5 

Once the correct positioning for the front bracket is found, remove  the awning and tighten 

the bolts attaching the brackets to the roof conversion and place the bl ack nut-caps on the 

nuts.  

 

 



STEP 6 

Mount the awning to the brackets, starting from the rear, using the butt on head bolts and M8 

oversized washers. 

 

Place the black nut-caps on the fastened nuts 

 



Fasten the front end of the awning to the front bracket using the remaining fasteners. 

 

 

Fit the black nut-caps on the nuts at the back of the bracket to compl ete the fitment of the 

awning to the roof conversion. 

 

 

 

 


